Preliminary Cost Estimate

Brock Commons Phase 1 - Watermain replacement - UBC Portion of Works only
Replace existing 150mm dia CI and 200mm dia AC watermain with 200mm & 250mm dia
DI (ductile iron) watermain on Walter Gage Road and on East Lane (west side of Gage Towers)

Kamps Engineering Ltd Project : 8122

Date: September 28, 2016

Preliminary cost estimate for UBC's Cost for watermain replacement works at Brock Commons Phase 1 - all as shown on drawings prepared by Kamps Engineering Limited job 8122, sheets 200-rev 9-markup, sheet 202-rev 6 markup & sheet 211-rev3 markup, and assuming the work is constructed as part of the Brock Commons Phase 1 servicing work. NOTE: this estimate **does not** include the portion of the Watermain works allocated to the project.

Watermain : Supply & Install	page 1 of 2					
ltem	Unit	Quantity	Unit Price	Estimate		
Walter Gage Road - East Mall Sta 1+24.3 to 45 degree bend Sta 2+18.8 (sheet 202)						
Tie into ex 250mm WM East Mall	ls	1	5,000	5,000		
Tie into ex 150mm Service (west)	ls	1	2,500	2,500		
Remove ex hydrant & valve & cap off	ls	1	1,500	1,500		
Remove ex 150 dia gate valve & cap off	ls	1	1,500	1,500		
150mm DI Watermain	m	5.0	400	2,000		
200mm DI Watermain	m	91.6	500	45,800		
Gate Valve 150mm dia	ea	2	1,500	3,000		
Gate Valve 200mm dia	ea	2	2,000	4,000		
Hydrant assembly	ea	1	4,000	4,000		
Tee 250mm dia	ea	1	1,500	1,500		
Tee 200mm dia	ea	2	1,250	2,500		
Bends 100, 150 & 200mm dia	ea	3	650	1,950		
Caps 150 & 200mm dia	ea	4	200	800		
Temporary Blow-off assembly	ea	2	1,000	2,000		
Robar Couplings 150 & 200 mm dia	ea	4	750	3,000		
Asphalt re & re (90m x 2.0m)	m²	180	50	9,000		
Traffic Control	ls	1	5,000	5,000		
Testing & Chlorination	ls	1.0	2,000	2,000		
UBC Waterma	97,050					

Preliminary cost estimate: Brock Commons Phase 1 watermain replacement works Kamps Engineering Ltd continured Date: September 28, 2016

Watermain : Supply & Install	page 2 of 2					
Sheet 211 : East Lane - from Walter Gage Road Sta 9+15 to Sta. 10+54.5 -(sheet 211)						
Tie into ex 200mm WM Lane north	ls	1	2,500	2,500		
Tie into ex 200mm watermain east end	ls	1	2,500	2,500		
Tie into ex 100mm Service (east)	ls	1	2,000	2,000		
Tie into ex 200mm WM Lane south-east	ls	1	2,500	2,500		
Tie into ex 250mm WM Lane south	ls	1	2,500	2,500		
Tie into ex 250's cross connect	ls	1	5,000	5,000		
100mm DI Watermain	m	16.0	350	5,600		
150mm DI Watermain	m	8.5	400	3,400		
200mm DI Watermain	m	148.0	500	74,000		
250mm DI Watermain	m	22.0	700	15,400		
Gate Valve 100mm dia	ea	1	1,500	1,500		
Gate Valve 150mm dia	ea	2	1,500	3,000		
Gate Valve 200mm dia	ea	4	2,000	8,000		
Hydrant assembly	ea	2	4,000	8,000		
Tee 250mm dia	ea	2	1,500	3,000		
Tee 200mm dia	ea	4	1,250	5,000		
Bends 100, 150 & 200mm dia	ea	9	650	5,850		
Bends 250mm dia	ea	7	800	5,600		
Temporary Blow-off assembly	ea	2	1,000	2,000		
Robar Couplings 100, 150 & 200 mm dia	ea	7	750	5,250		
Caps 150 & 200mm dia	ea	16	200	3,200		
Traffic Control	ls	1	5,000	5,000		
Asphalt re & re (150m x 2.0m)	m²	300	50	15,000		
Testing & Chlorination	ls	1.0	2,000	2,000		
UBC Water	187,800					
UBC Waterma	97,050					
	284,850					
	28,485					
To	\$ 313,335					





